

Adult single fares

	g (all stop Reading	•	ol Road <i>i</i>	/A329M	r'bout											These fares charts show the single and
£5.50	£5.50 Bracknell (Bus Station) Red box shows Green Line 702/703 common section. Fares available on either route.														return fares for travel	
£5.50															on Green Line 702. For	
£5.50														full fares and terms		
£5.50	5.50 £5.50 £2.40 £2.20 £2.20 Royal Hunt												and conditions			
£5.50	£5.50	£4.80	£4.80	£4.80	£3.50	LEGOLA	.ND									(including validity of
£5.50	£5.50	£4.80	£4.80	£4.80	£4.10	£2.50	Prince A	lbert/In	nperial R	Road						tickets) visit our
£5.50	£5.50	£4.80	£4.80	£4.80	£4.10	£2.50	£2.50	Hospita	l (Winds	or)						website.
£5.50	£5.50	£4.80	£4.80	£4.80	£4.80	£4.00	£2.50	£2.00	Parish (Church (V	Vindsor)					
£5.50	£5.50	£4.80	£4.80	£4.80	£4.80	£4.00	£2.50	£2.00	£2.00	Boys Sc	hool (Wi	indsor)				
£5.50	£5.50	£5.50	£5.50	£5.50	£5.50	£4.80	£3.50	£3.00	£3.00	£3.00	Windso	r Road M	1cDonald	ls		
£5.50	£5.50	£5.50	£5.50	£5.50	£5.50	£4.80	£3.50	£3.00	£3.00	£3.00	£2.00	Slough	(Bus Sta	tion)		
£5.50	£5.50	£5.50	£5.50	£5.50	£5.50	£4.80	£4.00	£4.00	£4.00	£4.00	£2.00	£2.00	Langley	High St	/Ditton F	Rd
£13.00	£13.00	£13.00	£13.00	£13.00	£13.00	£13.00	£13.00	£13.00	£13.00	£13.00	£9.00	£9.00	£9.00	Hamme	rsmith <i>(t</i>	nefore 12pm)
£7.00	£7.00	£7.00	£7.00	£7.00	£7.00	£7.00	£7.00	£7.00	£7.00	£7.00	£5.50	£5.50	£5.50	Hamme	rsmith <i>(a</i>	after 12pm)
£13.00	£13.00	£13.00	£13.00	£13.00	£13.00	£13.00	£13.00	£13.00	£13.00	£13.00	£9.00	£9.00	£9.00	62.00	Kensing	ton <i>(before 12pm)</i>
£7.00	£7.00	£7.00	£7.00	£7.00	£7.00	£7.00	£7.00	£7.00	£7.00	£7.00	£5.50	£5.50	£5.50	£2.00	Kensing	ton <i>(after 12pm)</i>
£13.00	£13.00	£13.00	£13.00	£13.00	£13.00	£13.00	£13.00	£13.00	£13.00	£13.00	£9.00	£9.00	£9.00		22.22	Hyde Pk Cnr (before 12pm)
£7.00	£7.00	£7.00	£7.00	£7.00	£7.00	£7.00	£7.00	£7.00	£7.00	£7.00	£5.50	£5.50	£5.50	£2.00	£2.00	Hyde Pk Cnr <i>(after 12pm)</i>
	£13.00											£9.00	£9.00			Victoria (hefore 12nm)
£7.00	£7.00	£7.00	£7.00		£7.00	£7.00		£7.00		£7.00	£5.50	£5.50	£5.50	£2.00	£2.00	£2.00 Victoria (after 12pm)

London fares are towards Bracknell/Windsor/Reading only Towards London is set-down only



Adult same-day return fares

Reading	(all stop	os)														
£4.00	Reading	ı Liverpo	ol Road	/A329M	r'bout											
£6.50														Travelling more often?		
£6.50															Get one of our great value tickets - valid on Green Line 702/703 &	
£6.50	£6.50	£3.80			wood H	•										all Reading Buses services including Thames Valley.
£6.50		£3.80			Royal H	unt										
£6.50		£6.50		£6.50		LEGOLA										Green Line Day Green Line 7 Day Green Line 30 Day Unlimited travel all Unlimited travel for 7 Unlimited travel for 7
£6.50		£6.50		£6.50		£3.50			•							day! consecutive days! consecutive days!
£6.50		£6.50		£6.50					I (Winds	•						coo cco ctoo
£6.50		£6.50		£6.50						•	Windsor)					£20 £60 £180
£6.50		£6.50		£6.50		£5.50					hool (Wi					
£6.50		£6.50		£6.50		£6.50					Windso					
£6.50		£6.50		£6.50		£6.50					£3.50		-	=		
£6.50		£6.50				£6.50									/Ditton Ro	
																efore 12pm)
															rsmith <i>(af</i>	•
											£12.00			N/A		on <i>(before 12pm)</i>
£10.00	£10.00	£10.00	£10.00	£10.00	£10.00	£10.00	£10.00	£10.00	£10.00	£10.00	£7.00	£7.00	£7.00	11/7		on <i>(after 12pm)</i>
£19.00	£19.00	£19.00	£19.00	£19.00	£19.00	£19.00	£19.00	£19.00	£19.00	£19.00	£12.00	£12.00	£12.00	N/A		lyde Pk Cnr <i>(before 12pm)</i>
£10.00	£10.00	£10.00	£10.00	£10.00	£10.00	£10.00	£10.00	£10.00	£10.00	£10.00	£7.00	£7.00	£7.00	IV/A	11/7	lyde Pk Cnr <i>(after 12pm)</i>
£19.00														NI/A	N/A	Victoria (before 12pm)
£10.00	£10.00	£10.00	£10.00	£10.00	£10.00	£10.00	£10.00	£10.00	£10.00	£10.00	£7.00	£7.00	£7.00	N/A	N/A	Victoria <i>(after 12pm)</i>
														No return f	are in Londor	n - single just £2



Boost single fares

Read	ling (al	l stops)	

IVCOUIT		ps/														
£1.50	Reading	Liverpo	ol Road /	'A329M	r'bout											
£3.30	£3.30	Brackne	ell (Bus S	tation)		Red box	shows G	reen Line	702/703	3 commo	n section	. Fares av	/ailable o	n either i	route.	
£3.30	£3.30	£1.50	Fernban	ık Road												
£3.30	£3.30	£1.70	£1.50	Heather	wood Ho	ospital										
£3.90	£3.90	£1.70	£1.50	£1.50	Royal H	unt										
£3.90	£3.90	£3.40	£3.40	£3.40	£2.90	LEGOLA	ND									
£3.90	£3.90	£3.40	£3.40	£3.40	£3.40	£1.80	Prince A	Albert/In	nperial R	load						
£3.90	£3.90	£3.40	£3.40	£3.40	£3.40	£1.80	£1.80	Hospita	I (Winds	or)						
£3.90	£3.90	£3.40	£3.40	£3.40	£3.40	£2.70	£1.80	£1.50	Parish (Church (\	Vindsor)					
£3.90	£3.90	£3.40	£3.40	£3.40	£3.40	£2.70	£1.80	£1.50	£1.50	Boys Sc	hool (Wi	ndsor)				
£3.90	£3.90	£3.90	£3.90	£3.90	£3.90	£3.40	£2.50	£2.10	£2.10		Windsor					
£3.90	£3.90	£3.90	£3.90	£3.90	£3.90	£3.40	£2.50	£2.10		£2.10		Slough (
£3.90	£3.90	£3.90	£3.90	£3.90	£3.90	£3.40	£2.80	£2.80	£2.80	£2.80	£1.50	£1.50	Langley	High St	/Ditton	Rd
£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£6.00	£6.00	£6.00	Hamme	rsmith (before 12pm)
£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£3.50	£3.50	£3.50	Hamme	rsmith (after 12pm)
£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£6.00	£6.00	£6.00	£1.00	Kensing	ton <i>(before 12pm)</i>
£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£3.50	£3.50	£3.50	L 1.00	Kensing	ton <i>(after 12pm)</i>
£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£6.00	£6.00	£6.00	£1.00	£1.00	Hyde Pk Cnr <i>(before 12pm)</i>
£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£3.50	£3.50	£3.50	£1.00	£1.00	Hyde Pk Cnr <i>(after 12pm)</i>
£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£9.00	£6.00	£6.00	£6.00	£1.00	£1.00	Victoria <i>(before 12pm)</i>
£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£4.90	£3.50	£3.50	£3.50	£1.00	£1.00	£1.00 Victoria (after 12pm)

Boost fares available for customers aged 18 and younger. See reading-buses.co.uk/boost for full validity.

London fares are towards Bracknell/Windsor/Reading only Towards London is set-down only



Boost same-day return fares

Reading (all stops)	
£2.50 Reading Liverpool Road/A329M r'bout	<u> </u>
£3.70 Bracknell (Bus Station) Red box shows Green Line 702/703 common section. Fares available on either route.	Travelling more often?
£3.70 £3.70 £1.60 Fernbank Road	Get one of our great value Boost tickets -
£3.70 £3.70 £2.40 £2.20 Heatherwood Hospital	valid on Green Line 702/703 & all Reading
£4.00 £4.00 £2.40 £2.20 £2.20 Royal Hunt	
£4.00 £4.00 £4.00 £4.00 £4.00 LEGOLAND	Green Line Day Green Line 7 Day
£4.00 £4.00 £4.00 £4.00 £4.00 £4.00 £2.50 Prince Albert/Imperial Road	Unlimited travel all Unlimited travel for 7 day! consecutive days!
£4.00 £4.00 £4.00 £4.00 £4.00 £4.00 £2.50 £2.50 Hospital (Windsor)	
£4.00 £4.00 £4.00 £4.00 £4.00 £4.00 £3.30 £2.50 F2.50 Parish Church (Windsor)	£13 £39
£4.00 £4.00 £4.00 £4.00 £4.00 £4.00 £3.30 £2.50 £2.50 Boys School (Windsor)	
£4.00 £4.00 £4.00 £4.00 £4.00 £4.00 £4.00 £4.00 £3.30 £2.90 £2.90 Windsor Road McDonalds	
£4.00 £4.00 £4.00 £4.00 £4.00 £4.00 £4.00 £4.00 £3.30 £2.90 £2.90 £2.90 Slough (Bus Station)	
£4.00 £4.00 £4.00 £4.00 £4.00 £4.00 £4.00 £4.00 £3.50 £3.50 £3.50 £3.50 £2.50 £2.50 Langley High St/Ditton	Rd
£12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £7.50 £7.50 Hammersmith (before 12pm)
£6.50	'after 12pm)
£12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £7.50 £7.50 £7.50 Kensing	gton <i>(before 12pm)</i>
£6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £4.50 £4.50 £4.50	gton <i>(after 12pm)</i>
£12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £12.00 £7.50 £7.50	Hyde Pk Cnr <i>(before 12pm)</i>
£6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £4.50 £4.50	Hyde Pk Cnr <i>(after 12pm)</i>
£12 00 £12 00 £12 00 £12 00 £12 00 £12 00 £12 00 £12 00 £12 00 £12 00 £12 00 £7 50 £7 50 £7 50	Victoria (hefore 12nm)
£6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £6.50 £4.50 £4.50	N/A Victoria (after 12pm)
Death force available for evaluations and 10 and various Constanting by some for full validity.	

Boost fares available for customers aged 18 and younger. See reading-buses.co.uk/boost for full validity.

No return fare in London - single just £1